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�5>?>7<G5E>4O 45OF5?L=>EFL ?>475<=OE 6>4: 745>?4G<64=<5 < 
?>4F>??5=<5, >4DEF, EGDD>7<O, >?>?7=<. 
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3. �5>?>7<G5E>4O 45OF5?L=>EFL >75D < 5>?>F. �5>?>7<G5E>4O 
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&5<4 1.3  
-=4>75==O5 
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?D>F5EEO 
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1. �47<4F<G5E><5 ?D>F5EEO. �>=OF<5 > <47<5. �=FDG7<6=O= 
<47<4F<7<. �G?>4=<7<. �5F4<>DD<G5E><5 ?D>F5EEO. �<4O 
<5F4<>DD<7<4. &5>F>=<G5E><5 46<65=<O < 45D>D<4F<< 7>D=OE ?>D>4. 
�5<?5FDOE5=<O 

2 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 10 

�D4>F<G5E>>5 74=OF<5 5. 
�7GG5=<5 D>D< 74?574=<O <47<4F<G5E><E 7>D=OE ?>D>4. %FD>5=<5 
6G?>4=4. 
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�D4>F<G5E>>5 74=OF<5 6. 
�?D545?5=<5 E>?44>> < D47DO6=OE =4DGL5=<= =4 75>?>7<G5E><E >4DF4E 
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M?5<5=F>6 74?574=<O E?>O =4 75>?>7<G5E><E >4DF4E. 
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%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

$4745? 2. �D<EF4??>7D4D<O, <<=5D4?>7<O < ?5FD>7D4D<O. 46/32  

&5<4 2.1  
�>=OF<5 > >D<EF4??5. 

%>45D64=<5 GG55=>7> <4F5D<4?4 4 �� 1.1, 
�� 1.6, 1. �>=OF<5 > >D<EF4??5, >D<EF4??<G5E>>< < 4<>DD=>< 65M5EF65. 2 
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%<<<5FD<O 
>D<EF4??>6. 

%4D4>F5D<EF<>4 D<7<G5E><E E6>=EF6 >D<EF4??<G5E><E 65M5EF6. 
%<<<5FD<O >D<EF4??>6. �D>EFO5 D>D<O < <E >><5<=4F<<. 

�� 01-09 
�$ 14, 15 
 � F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 2 

�D4>F<G5E>>5 74=OF<5 10. 
�?D545?5=<5 M?5<5=F>6 E<<<5FD<<, ?D>EFOE D>D< < >><5<=4F<= 
?D>EFOE D>D< =4 <>45?OE >D<EF4??>6. 
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%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 2.2  
%<<<G5E><= E>EF46 < 
D<7<G5E><5 E6>=EF64 
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�� 1.6, 
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�$ 14, 15, 20 
 

1. �?D545?5=<5 ?>=OF<O «<<=5D4?». %<<<G5E><= E>EF46 <<=5D4?>6. 
�7><>DD<7<. �>?<<>DD<7<. $<7<G5E><5 E6>=EF64 <<=5D4?>6. 
�>DD>?>7<O <<=5D4?>6 < <E 47D574F>6. 

2 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 4 

�D4>F<G5E>>5 74=OF<5 11. 
�?D545?5=<5 D<7<G5E><E E6>=EF6 <<=5D4?>6. 

2 

�D4>F<G5E>>5 74=OF<5 12. 
�?D545?5=<5  <>DD>?>7<< <<=5D4?>6. 
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&5<4 2.3 
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1. %4D4>F5D<EF<>4 7?46=OE ?D>F5EE>6 <<=5D4?>>5D47>64=<O. 
�D<=F<?O >?4EE<D<>4F<< <<=5D4?>6 ?> E<<<G5E>><G E>EF46G E 
GG5F>< EFDG>FGD=OE >E>55==>EF5= <<=5D4?>6. �?4EEO <<=5D4?>6. 

2 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 10 

�D4>F<G5E>>5 74=OF<5 13. 
�?D545?5=<5 E4<>D>4=OE M?5<5=F>6 ?> 4<47=>EF<G5E><< ?D<7=4>4< 6 
>5D47F4E >>??5>F<= 

2 

�D4>F<G5E>>5 74=OF<5 14. 
�?D545?5=<5 <<=5D4?>6 >?4EE4 EG?LD<4>6 ?> 4<47=>EF<G5E><< 
?D<7=4>4< 6 >5D47F4E >>??5>F<= 

2 

�D4>F<G5E>>5 74=OF<5 15. 
�?D545?5=<5 <<=5D4?>6 >?4EE4 74?><4>6 < >><E?>6 ?> 
4<47=>EF<G5E><< ?D<7=4>4< 6 >5D47F4E >>??5>F<= 

2 

�D4>F<G5E>>5 74=OF<5 16. 
�?D545?5=<5 <<=5D4?>6 >?4EE4 E<?<>4F>6 ?> 4<47=>EF<G5E><< 

2 
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?D<7=4>4< 6 >5D47F4E >>??5>F<= 
�D4>F<G5E>>5 74=OF<5 17. 
�?D545?5=<5 <<=5D4?>6  >?4EE4 >4D5>=4F>6 ?> 4<47=>EF<G5E><< 
?D<7=4>4< 6 >5D47F4E >>??5>F<=. 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 2.4 
�444G< ?5FD>7D4D<< 
< <5F>4O 
<EE?54>64=<O 7>D=OE 
?>D>4 
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?>D>44». �5=5F<G5E><5 7DG??O 7>D=OE ?>D>4 < <E >E=>6=O5 
E4D4>F5D<EF<><. �5F>4O <EE?54>64=<O 7>D=OE ?>D>4. 

2 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 2 

�D4>F<G5E>>5 74=OF<5 18. 
�7GG5=<5 L?<E>6OE <<=5D4?>6 E ?><>MLN 5<=>>G?OD4. 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 2.5 
�47<4F<G5E><5 
7>D=O5 ?>D>4O 
 

%>45D64=<5 GG55=>7> <4F5D<4?4 6 �� 1.1, 
�� 1.6, 
�� 1.8, 
�� 01-09 
�$ 14, 15, 20 
 

1. $4E?D>EFD4=U==>EFL <47<4F<G5E><E 7>D=OE ?>D>4 6 75<=>= >>D5. 
'E?>6<O >5D47>64=<O. �?4EE<D<>4F<O <47<4F<G5E><E ?>D>4.  

2 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 4 

�D4>F<G5E>>5 74=OF<5 19. 
�?D545?5=<5 < >?<E4=<5 ?> >5D47F4< G?LFD>>E=>6=OE < >E=>6=OE 
<47<4F<G5E><E 7>D=OE ?>D>4. 

2 

�D4>F<G5E>>5 74=OF<5 20. 
�?D545?5=<5 < >?<E4=<5 ?> >5D47F4< ED54=<E, ><E?OE < M5?>G=OE 
<47<4F<G5E><E 7>D=OE ?>D>4 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 2.6  
�E44>G=O5 7>D=O5 
?>D>4O 

%>45D64=<5 GG55=>7> <4F5D<4?4 8 �� 1.1, 
�� 1.6, 
�� 1.8, 
�� 01-09 
�$ 14, 20 
 

1. $4E?D>EFD4=U==>EFL ?>D>4, <E 7=4G5=<5. �5D47>64=<5 7>D=OE ?>D>4. 
�?4EE<D<>4F<O >E44>G=OE 7>D=OE ?>D>4.  �>?57=O5 <E>>?45<O5, 
E6O74==O5 E >E44>G=O< =4>>??5=<5< < 6O65FD<64=<5< 7>D=OE ?>D>4. 

2 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 6 

�D4>F<G5E>>5 74=OF<5 21. 
�?D545?5=<5 < >?<E4=<5 ?> >5D47F4<  F5DD<75==OE 7>D=OE ?>D>4. 

2 

�D4>F<G5E>>5 74=OF<5 22. 
�?D545?5=<5 < >?<E4=<5 ?> >5D47F4< E<<<G5E><E < 5<>E<<<G5E><E 

2 
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>E44>G=OE 7>D=OE ?>D>4. 
�D4>F<G5E>>5 74=OF<5 23. 
�?D545?5=<5 < >?<E4=<5 ?> >5D47F4< >4GEF>5<>?<F>6. 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 2.7  
�5F4<>DD<G5E><5   
7>D=O5 ?>D>4O 

%>45D64=<5 GG55=>7> <4F5D<4?4 6 �� 1.1, 
�� 1.6, 
�� 1.8, 
�� 01-09 
�$ 14, 20 
 

1. $4E?D>EFD4=5==>EFL <5F4<>DD<G5E><E ?>D>4 6 75<=>= >>D5. 'E?>6<O 
>5D47>64=<O, D4>F>DO < 6<4O <5F4<>DD<7<4. �<=5D4?L=O= < 
E<<<G5E><= E>EF46, EFDG>FGDO < F5>EFGDO ?>D>4. �?4EE<D<>4F<O, 
E4D4>F5D<EF<>4 <5F4<>DD<G5E><E ?>D>4. 

2 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 4 

�D4>F<G5E>>5 74=OF<5 24. 
�?D545?5=<5 < >?<E4=<5 ?> >5D47F4<  7>D=OE ?>D>4 D57<>=4?L=>7> 
<5F4<>DD<7<4. 

2 

�D4>F<G5E>>5 74=OF<5 25. 
�?D545?5=<5 < >?<E4=<5 ?> >5D47F4<  7>D=OE ?>D>4 >>=F4>F>6>7> 
<5F4<>DD<7<4. 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

$4745? 3. �EF>D<G5E>4O < D57<>=4?L=4O 75>?>7<O 
 

28/22 
 

&5<4 3.1 
%FD4F<7D4D<O 

%>45D64=<5 GG55=>7> <4F5D<4?4 6 �� 1.1, 
�� 1.6, 
�� 1.7, 
�� 01-09 
�$ 14, 15, 20 
 

1. %FD4F<7D4D<O < 55 7444G<. �D<=F<?O EFD4F<7D4D<<. �5E>?NF=4O < 
>F=>E<F5?L=4O 75>ED>=>?>7<O. �F=>E<F5?L=O= < 45E>?NF=O= 6>7D4EF 
7>D=OE ?>D>4 < <5F>4O >?D545?5=<O 6>7D4EF4 75>?>7<G5E><E F5?. 
%FD4F<7D4D<G5E>4O < 75>ED>=>?>7<G5E>4O L>4?4. 

2 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 4 

�D4>F<G5E>>5 74=OF<5 26. 
%>EF46?5=<5 EFD4F<7D4D<G5E>>= < 75>ED>=>?>7<G5E>>= L>4?O.  

2 

�D4>F<G5E>>5 74=OF<5 27. 
�?D545?5=<5 >F=>E<F5?L=>7> 6>7D4EF4 >E44>G=OE < <47<4F<G5E><E 
?>D>4. 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 3.2 
&5>F>=<G5E><5 

%>45D64=<5 GG55=>7> <4F5D<4?4 14 �� 1.1, 
�� 1.6, 1. %FD>5=<5 >>=F<=5=F4?L=>= < >>54=<G5E>>= >>DO. �5>E<=>?<=4?L=O5 2 
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>E=>6O <EF>D<G5E>>= 
75>?>7<< 

?>OE4 < >5?4EF<. �?4FD>D<O 3 4D56=<5 < <>?>4O5.  -?>E< 
E>?44G4F>EF< < F5>F>=<G5E><5 MF4?O. %4D4>F5D<EF<>4 >E=>6=OE EF44<= 
D476<F<O �5<?<. 

�� 1.7, 
�� 01-09 
�$ 14, 15, 20 
 � F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 12 

�D4>F<G5E>>5 74=OF<5 28. 
�?D545?5=<5 =4 F5>F>=<G5E>>= >4DF5 7D4=<F 4>>5<5D<=E><E, 
?4?5>7>=E><E EFDG>FGD.  

2 

�D4>F<G5E>>5 74=OF<5 29. 
�?D545?5=<5 =4 F5>F>=<G5E>>= >4DF5 7D4=<F <57>7>=E><E, 
>4==>7>=E><E EFDG>FGD. 

 

�D4>F<G5E>>5 74=OF<5 30. 
�7GG5=<5 >5?4EF5= ?D>O6?5=<O 55?><>DE>>=, 54=>4?LE>>=, 
>4?54>=E>>=, 75DF<=E>>=, ><<<5D<=E>>=, 4?L?<=E>>= E>?44G4F>EF<. 

2 

�D4>F<G5E>>5 74=OF<5 31. 
�O45?5=<5 =4 >4DF5 4D56=<E < <>?>4OE ??4FD>D<..  

2 

�D4>F<G5E>>5 74=OF<5 32. 
�O45?5=<5 =4 >4DF5 E>?44G4FOE ?>OE>6 

2 

�D4>F<G5E>>5 74=OF<5 33. 
�7GG5=<5 7D4=<F 4D56=<E ??4FD>D<, 75>E<=>?<=4?L=OE ?>OE>6, 
>5?4EF5= < E>6<5M5=<5 E >4DF>= D47<5M5=<O ?>?57=OE <E>>?45<OE. 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 3.3 
$57<>=4?L=4O 
75>?>7<O 

%>45D64=<5 GG55=>7> <4F5D<4?4 8 �� 1.1, 
�� 1.6, 
�� 01-09 
�$ 14, 15, 20 
 

1. �444G< < <5F>4O D57<>=4?L=>= 75>?>7<<. �MD> 3 < >>E<<G5E><5 
<5F>4O, 75>D<7<G5E><5 <EE?54>64=<O, 7?G5>>>5 5GD5=<5. %>6D5<5==4O 
<7GG5==>EFL F5DD<F>D<< $>EE<< < E>?D545?L=OE D57<>=>6. 

2 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 6 

�D4>F<G5E>>5 74=OF<5 34. 
�7GG5=<5 7D4=<F 4D56=<E ??4FD>D<, 75>E<=>?<=4?L=OE ?>OE>6, 
>5?4EF5= < E>6<5M5=<5 E >4DF>= D47<5M5=<O ?>?57=OE <E>>?45<OE. 

2 

�D4>F<G5E>>5 74=OF<5 35. 
�7GG5=<5 7D4=<F 4D56=<E ??4FD>D<, 75>E<=>?<=4?L=OE ?>OE>6, 
>5?4EF5= < E>6<5M5=<5 E >4DF>= D47<5M5=<O ?>?57=OE <E>>?45<OE. 

2 

�D4>F<G5E>>5 74=OF<5 36. 
�7GG5=<5 7D4=<F 4D56=<E ??4FD>D<, 75>E<=>?<=4?L=OE ?>OE>6, 

2 
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>5?4EF5= < E>6<5M5=<5 E >4DF>= D47<5M5=<O ?>?57=OE <E>>?45<OE 
%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

$4745? 4. �E=>6O 7<4D>75>?>7<< < <=65=5D=>= 75>?>7<< 
 

14/8 
 

&5<4 4.1 
%FD>5=<5 ?>475<=>= 
7<4D>ED5DO. 

%>45D64=<5 GG55=>7> <4F5D<4?4 2 �� 1.1, 
�� 1.6, 
�� 1.8, 
�� 01-09 
�$ 14, 15, 20 

1. $4E?D545?5=<5 6>4O < 55 7=4G5=<5. �DG7>6>D>F 6>4O 6 ?D<D>45. 
�F<>ED5D=O5 >E44>< < <E D>?L 6 ?<F4=<< ?>475<=OE 6>4. �<4O 6>4O 6 
7>D=OE ?>D>44E. �?4EE<D<>4F<O ?>475<=OE 6>4. 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 4.2 
$<7<G5E><5 E6>=EF64 
< E<<<G5E><= E>EF46 
6>4O 

%>45D64=<5 GG55=>7> <4F5D<4?4 4 �� 1.1, 
�� 1.6, 
�� 1.7, 
�� 1.8, 
�� 01-09 

1. $<7<G5E><5 E6>=EF64 ?>475<=OE 6>4. �E=>6=O5 ?>>474F5?< 
E<<<G5E><E E6>=EF6 6>4O. �4>F5D<4?L=O= E>EF46 6>4O. �F5=>4 
?D<7>4=>EF< 6>4O ?> %4=�<�. 

2 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 2 

�D4>F<G5E>>5 74=OF<5 37.  
�5D45>F>4 D57G?LF4F>6 E<<<G5E>>7> 4=4?<74 6>4O. 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 4.3 
�5DE>6>4>4 < 
7DG=F>6O5 6>4O. 
�DF57<4=E><5 6>4O 

%>45D64=<5 GG55=>7> <4F5D<4?4 8 �� 1.1, 
�� 1.6, 
�� 1.7, 
�� 1.8, 
�� 01-09 
�$ 14, 15, 20 
 

1. �5DE>6>4>4, 55 >E>55==>EF<. �DG=F>6O5 6>4O, GE?>6<O 74?574=<O < 
>E>55==>EF<. 'E?>6<O 74?574=<O 4DF57<4=E><E 6>4 < <E >E>55==>EF<. 
�DF57<4=E><= 54EE5== < 57> M?5<5=FO 

2 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 6 

�D4>F<G5E>>5 74=OF<5 38.  
�>EFD>5=<5 >4DFO 7<4D><7>7<?E, 55 4=4?<7. 

2 

�D4>F<G5E>>5 74=OF<5 39. 
�>EFD>5=<5 >4DFO ?L57><7>7<?E < 55 4=4?<7. 

2 

�D4>F<G5E>>5 74=OF<5 40. 
�7GG5=<5 7D4=G?><5FD<G5E>>7> E>EF464 ?5E>4 < M55=O 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

�D><56GF>G=4O 4FF5EF4F<O 12  

�E57>: 128  

. 
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3. '%����/ $������&�� ''����� ��%&�����/ 

3.1. �?O D54?<74F<< ?D>7D4<<O GG55=>= 4<EF<??<=O 4>?6=O 5OFL ?D54GE<>FD5=O 
E?54GNM<5 E?5F<4?L=O5 ?><5M5=<O: 

�45<=5F «�5>?>7<< < ?>?57=OE <E>>?45<OE», >E=4M5==O=  
- >5>DG4>64=<5<: D45>G<5 <5EF4 4?O >5GG4NM<EEO < ?D5?>4464F5?O; 

45<>=EFD4F<>==O5 ??4>4FO ?> 4<EF<??<=5; <>45?<, <4>5FO >D<EF4??>6, <>45?< 
?D>EFD4=EF65==OE D5L5F>>; F5>F>=<G5E><5 < 75>?>7<G5E><5 >4DFO; <>DD>?>7<G5E><5 
>>??5>F<<; >>??5>F<< <<=5D4?>6 < 7>D=OE ?>D>4;  

- F5E=<G5E><<< ED54EF64<< >5GG5=<O: ?5DE>=4?L=O= >><?LNF5D E 6OE>4>< 6 
<=F5D=5F < ?<F5=7<>==O< ?D>7D4<<=O< >55E?5G5=<5<, <G?LF<<54<==O= ?D>5>F>D, �$'. 

�45>D4F>D<O «�D<EF4??>7D4D<<, <<=5D4?>7<< < ?5FD>7D4D<<», >E=4M5==4O 
>5>DG4>64=<5<:  

- ?>E44>G=O5 <5EF4 ?> >>?<G5EF6G >5GG4NM<EEO; D45>G55 <5EF> ?D5?>4464F5?O;  
- D4744F>G=O5 >>??5>F<< >5D47F>6 <<=5D4?>6, 7>D=OE ?>D>4, 6 >>?<G5EF65 10415 

LFG> =4 >464>7> EFG45=F4; M>E?>7<F<< <<=5D4?>6: «%4<>D>4=O5 M?5<5=FO», 
«%G?LD<4O», «�4?><4O», «�><E?O < 7<4D>>><E?O», «�4D5>=4FO», «%G?LD4FO < 
D>ED4FO», «%<?<>4FO», «�>D4FO, 6>?LDD4<4FO, <>?<544FO»;  

- M>E?>7<F<< 7>D=OE ?>D>4: «�47<4F<G5E><5 7>D=O5 ?>D>4O», «�E44>G=O5 7>D=O5 
?>D>4O», «�5F4<>DD<G5E><5 7>D=O5 ?>D>4O»;  

- ?D<E?>E>5?5=<O 4?O 4<47=>EF<>< <<=5D4?>6 < 7>D=OE ?>D>4: D4DD>D>6O5 
??4EF<=><, ?G?O, L>4?4 F65D4>EF<, EF5>?O==O5 ??4EF<=><;  

- >><?LNF5D (=>GF5G>) E ?<F5=7<>==O< ?D>7D4<<=O< >55E?5G5=<5<; 
?D575=F4F<>==>5 >5>DG4>64=<5. 

 
3.2. �=D>D<4F<>==>5 >55E?5G5=<5 D54?<74F<< ?D>7D4<<O 

�5D5G5=L GG55=OE <744=<=, �=F5D=5F-D5EGDE>6, 4>?>?=<F5?L=>= ?<F5D4FGDO 
 

'G55=>-<5F>4<G5E>>5 < <=D>D<4F<>==>5 >55E?5G5=<5 4<EF<??<=O 
 

�E=>6=4O ?<F5D4FGD4: 
7 ?/? �EF>G=<> 

1 �<?NF<=, �. �.  �5>?>7<O 6 2 >=. �=<74 1 : GG55=<> 4?O ED54=57> 
?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �<?NF<=. 4 3-5 <74., ?5D5D45. < 4>?. 
4 �>E>64 : �744F5?LEF6> .D4=F, 2023. 4 262 E. 4 (�D>D5EE<>=4?L=>5 
>5D47>64=<5). 4 ISBN 978-5-534-06035-5. 4 &5>EF : M?5>FD>==O= // 
�5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: 
https://urait.ru/bcode/516165 (44F4 >5D4M5=<O: 11.03.2023). 

2 �<?NF<=, �. �.  �5>?>7<O 6 2 >=. �=<74 2 : GG55=<> 4?O ED54=57> 
?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �<?NF<=. 4 3-5 <74., ?5D5D45. < 4>?. 
4 �>E>64 : �744F5?LEF6> .D4=F, 2023. 4 287 E. 4 (�D>D5EE<>=4?L=>5 
>5D47>64=<5). 4 ISBN 978-5-534-06037-9. 4 &5>EF : M?5>FD>==O= // 
�5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: 
https://urait.ru/bcode/516167 (44F4 >5D4M5=<O: 11.03.2023). 

3 �>D>=>6E><=, �. �.  �5>?>7<O : GG55=>5 ?>E>5<5 4?O ED54=57> 
?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �>D>=>6E><=. 4 2-5 <74., <E?D. < 4>?. 
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4 �>E>64 : �744F5?LEF6> .D4=F, 2023. 4 194 E. 4 (�D>D5EE<>=4?L=>5 
>5D47>64=<5). 4 ISBN 978-5-534-08484-9. 4 &5>EF : M?5>FD>==O= // 
�5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: 
https://urait.ru/bcode/515019 (44F4 >5D4M5=<O: 12.03.2023). 

 
�>?>?=<F5?L=4O ?<F5D4FGD4: 

7 ?/? �EF>G=<> 

1 �<?NF<= �. �. �5>?>7<O ?>?57=OE <E>>?45<OE : GG55. < ?D4>F<>G< 4?O %�� / 
�. �. �<?NF<=. 7 �>E>64 : .D4=F, 2019. 7 197 E. -(�D>D5EE<>=4?L=>5 
>5D47>64=<5). ISBN 978-5-534-03552-0. 3 &5>EF : =5?>ED54EF65==O=. 
�<?NF<=, �. �. �5>?>7<O ?>?57=OE <E>>?45<OE : GG55=<> < ?D4>F<>G< 4?O 
ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �<?NF<=. 4 �>E>64 : 
�744F5?LEF6> .D4=F, 2022. 4 197 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 
ISBN 978-5-534-03552-0. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O 
??4FD>D<4 .D4=F [E4=F]. 4 URL: https://urait.ru/bcode/492402 (44F4 
>5D4M5=<O: 31.03.2023). 

�5D<>4<G5E><5 <744=<O (>F5G5EF65==O5 6GD=4?O): 
7 ?/? �EF>G=<> 

1 �F5G5EF65==4O 75>?>7<O : =4GG.  6GD=4? /GGD54<F5?< : �<=?D<D>4O $$, 
$�%���, $�'� &���$�; &5=FD4?L=O= =4GG=>-<EE?54>64F5?LE><= 
75>?>7>D47654>G=O= <=EF<FGF F65F=OE < 5?47>D>4=OE <5F4??>6. 3 �>E>64 : 
&���$�. 1933  3. 4 �OE>4<F 6 D47 6 7>4. 3 ISBN ?5G4F=>= 65DE<< 0869-7175. 
3 &5>EF : M?5>FD>==O=  // -�% elibrary [E4=F]. 4 URL : 
https://elibrary.ru/contents.asp?id=50390599 (44F4 >5D4M5=<O: 15.05.2023). 

2 $57<>=4?L=4O 75>?>7<O < <5F4??>75=<O : =4GG. 6GD=4? /GGD54<F5?< : $��' 
"�E5D>EE<=E><= =4GG=>-<EE?54>64F5?LE><= 75>?>7<G5E><= <=EF<FGF <<. �.�. 
�4D?<=E>>7>" 3 �>E>64 : 1993  3. 4 �OE>4<F 4 D474 6 7>4. 3 ISBN ?5G4F=>= 
65DE<< 0869-7892. 3 &5>EF : =5?>ED54EF65==O=. 

3 �D<D>44: =4GG.-?>?G?. 6GD=4? / GGD54<F5?< : $��;  �4GG=O= < <744F5?LE><= 
F5=FD "�4G>4" $��. 3 �>E>64 : �4GG=O= < <744F5?LE><= F5=FD "�4G>4" $��, 
1912 3. 4 �OE>4<F 12 D47 6 7>4. 3 ISBN ?5G4F=>= 65DE<< 0032-874X. 3 &5>EF : 
=5?>ED54EF65==O=. 

 
�=D>D<4F<>==O5 M?5>FD>==>->5D47>64F5?L=O5 D5EGDEO: 
7 ?/? �EF>G=<> 

1 -?5>FD>==4O 5<5?<>F5G=4O E<EF5<4 «�<5?<>&5E. �744F5?LEF6> ��'»    
https://mgri-rggru.bibliotech.ru 

2 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 «�744F5?LEF6> �4=L»/ >>??. �=65=5D=>-
F5E=<G5E><5 =4G>< (&N<�')  

www.e.lanbook.com   
3 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 elibrary» / �D46>>5?444F5?L: �5M5EF6> E 

>7D4=<G5==>= >F65FEF65==>EFLN «$'�-�» (RU) 
 https://elibrary.ru 

4 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 «-�% .$��&» / www. urait.ru 
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4. ���&$��, � �&���� $��'�,&�&�� �%�����/ 
''����� ��%&�����/ 

 
$57G?LF4FO >5GG5=<O �D<F5D<< >F5=>< �5F>4O >F5=>< 

�=4=<O: 
- D>D<4, D47<5DO < EFD>5=<5 �5<?<;  
- D<7<G5E><5 E6>=EF64 < E4D4>F5D<EF<>4 
>5>?>G5> �5<?<; 
- 65M5EF65==O= E>EF46 75<=>= >>DO < 5U 
EFD>5=<5;  
- M=4>75==O5 < M>7>75==O5 75>?>7<G5E><5 
?D>F5EEO;  
- ?>=OF<5 > >D<EF4??5, E4D4>F5D<EF<>4  
D<7<G5E><E E6>=EF6 >D<EF4??<G5E><E 
65M5EF6;  
- E<<<G5E><= E>EF46 < D<7<G5E><5 E6>=EF64 
<<=5D4?>6;  
- >?4EE<D<>4F<O <<=5D4?>6;  
- D<7<>>-E<<<G5E><5 E6>=EF64, EFDG>FGD4 < 
F5>EFGD4 7>D=OE ?>D>4;  
- 75=5F<G5E><5 F<?O 7>D=OE ?>D>4; 
- EFD>5=<5 ?>475<=>= 7<4D>ED5DO;  
- >E=>6O 7<4D>75>?>7<<: >DG7>6>D>F 6>4O 6 
?D<D>45;  
?D><EE>645=<5 ?>475<=OE 6>4 < <E 
D<7<G5E><5 E6>=EF64;  
747>6O= < 54>F5D<4?L=O= E>EF46 ?>475<=OE 
6>4;  
- 6>4O 7>=O 4MD4F<<;  
7DG=F>6O5 < 4DF57<4=E><5 6>4O;  
- ?>475<=O5 6>4O 6 FD5M<=>64FOE < 
74>4DEF>64==OE ?>D>44E;  
- ?>475<=O5 6>4O 6 >5?4EF< D476<F<O 
<=>7>?5F=5<5D7?OE ?>D>4;  
- <<=5D4?L=O5, ?D><OL?5==O5 < 
F5D<4?L=O5 6>4O;  
- >E=>6O 4<=4<<>< ?>475<=OE 6>4;  
- >E=>6O <=65=5D=>= 75>?>7<<: 7>D=O5 
?>D>4O >4> 7DG??O < <E D<7<>>-
<5E4=<G5E><5 E6>=EF64   

 

?>?=>F4 7=4=<= (>5N5< 7=4=<= 
6 E>>F65FEF6<< E ?D>7D4<<>=); 

>E>7=4==>EFL 7=4=<= 
(6O45?5=<5 6 <4F5D<4?5 
7?46=>7>, <E?>?L7>64=<5 
?D<5<>6 4=4?<74, ED46=5=<O, 
>5>5M5=<O, <7?>65=<O 7=4=<= 
E6><<< E?>64<<, ?D<6545=<5 
?D<<5D>6, 4>>474F5?LEF64); 

45=EF65==>EFL 7=4=<= 
(7>F>6=>EFL ?>?L7>64FLEO <<< 
?D< D5L5=<< 7444G, ?D<<5D>6, 
6O?>?=5=<< G?D46=5=<=, 
FDG4>6OE 7444=<=, 
?D4>F<G5E><E D45>F); 

 ?D>G=>EFL 7=4=<= (7>F>6=>EFL 
6>E?D><76>4<FL EGM5EF65==O5 
>><?>=5=FO GG55=>= 
45OF5?L=>EF<); 

7>F>6=>EFL > F6>DG5E>>= 
45OF5?L=>EF< (?D>O6?5=<5 
F6>DG5E>>7> ?>4E>44 > 
D4E>DOF<N <4F5D<4?4, 
4>744?<6>EF<, 
E>>5D47<F5?L=>EF<). 

 
%4<>EF>OF5?L=4O 

D45>F4. 
 

�D>65D>G=4O  
D45>F4. 

 
�>=FD>?L=4O  

D45>F4. 
 

&5EF<D>64=<5. 
 

�<DD5D5=F<D>64
==O= 74GUF. 

'<5=<O: 
- >?D545?OFL ?D>EFO5 D>D<O >D<EF4??>6;  
- >?D545?OFL D<7<G5E><5 E6>=EF64 < 
<>DD>?>7<N <<=5D4?>6;  
- D4E?>7=464FL 7>D=O5 ?>D>4O ?> GE?>6<O< 
>5D47>64=<O;   
- >?D545?OFL EFDG>FGDG < F5>EFGDG 7>D=OE 
?>D>4;  
- >?<EO64FL 7>D=O5 ?>D>4O < 4464FL << 
?>?56>5 >?D545?5=<5; - >?D545?OFL D>D<O 
D5?L5D4;  

 

?D>G=>EFL 7=4=<=, G<5=<= < 
=46O>>6 (7>F>6=>EFL 
6>E?D><76>4<FL EGM5EF65==O5 
>><?>=5=FO GG55=>= 
45OF5?L=>EF<); 

?D46<?L=>EFL (G<5=<O < 
=46O>< GEF=> < ?<EL<5==> 
<7?474FL GG55=O= <4F5D<4? < 

 

�F5=>4 
 D57G?LF4F>6  
6O?>?=5=<O 

?D4>F<G5E>>= 
D45>FO 

 
 
 

->E?5DF=>5 
=45?N45=<5 74 
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- 65EF< ?>?56O5 =45?N45=<O < 
4>>G<5=F4F<N 75>?>7<G5E><E >5N5>F>6;  
- D45>F4FL E 7>D=O< >><?4E><;  
- G<F4FL < E>EF46?OFL ?> >4DF4< 
EE5<4F<G5E><5 75>?>7<G5E><5, 
7<4D>75>?>7<G5E><5 D47D57O < 
EFD4F<7D4D<G5E><5 >>?>=><; 
- >D>D<?OFL 4>>G<5=F4F<N 75>?>7>-
7<4D>75>?>7<G5E><E <EE?54>64=<= E 
<E?>?L7>64=<5< <=D>D<4F<>==OE 
F5E=>?>7<=  

45?4FL MF> 557 >L<5>>); 

 

E>4><  
6O?>?=5=<O 

?D4>F<G5E>>= 
D45>FO 

 
 


